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a—F i Fifk | KR (kg) EH (1) =il i el PE i (BAL)
31100 B3 , | 20 1,458 756 756 702 BN BFr—A

131700 F XY 100 7,312 918 864 378 BN 104 — R
31800 i) AR 23 3,829 38 32 32/ B 1163
36800 Lo X k9 X 6 4,212 702 702 702| &N kg
35303 A F v TEXALD | ‘ 15 1,696 119 108 108| & ™ 15kg
Y3026 |xty7 EZAE D () 3 1,620, 540 540 540 3k
356402 | AFEH 4 2,700 756 648 648 | &M 4kg
Y3044 |HLFE (Bl ; | 10 864 86 86 86| M 10kg
36600 7-Fh¥ 3 ‘ 115 25, 380 281 216 173 | B 115kg
36340 B LNREEE ‘ | 100 2,700 270 270 270| B 10kg

| 36700 (ZAZ< 3 2,268 76 76 76| B 304
46108 | I DME DN EE ] 29 35, 856 389 356 356 | B 978y
71011 AL —% ‘ 32, 340 66 44 17 &M 8304
71203 |v 7 5 AV 10, 032 330 220 132 B 5484
71311 Y%7 U7 3 3,168 132 132 132 B 2484
53101 1% L AR | 2 1512 756 756 756 BP9 |2kg
Y5010 [ obRE (%) | 10 2,187 540 173)  119/BM 10kg
30100 [V Z A | 154 1,080 11 5 1 BERE 190K
30100 W Z A B | 90 1,264 216 119 119 B 9r—=.
30300 AZ 2L | 20 3,888/ 1,944| 1,944 1,944 |fEAK 27—
30300 A% M 50 2,700 540 540 540 |8 IR & 57 —2R
31100 |3 M ‘ 45 - 1,620 540 540 540 | R 16} 3r—A
31700 | ¥ ¥~ ‘ 80 12,960 1,620 1,620 540 | B R 87— A
31700 | ¥ ¥~ B j 70 3,780 594 540 486 | B IE 5 Tr—2A
31950 EHHRX B | 8 324 324 324 324 ERE 15 —2
31900 X | : | 10 2,970 216 108 108 | #E V2 By 203 (500g)
32800 |12 5 | | 2] 648 32 32 32| E iy 203
34300 A2 d -2 ‘ 15 3,337 1,112 1,112|  1,112/REXK 37 —A
34400 | k= k | 14 5,184 108 108 108 | fEA 48,3y 7

| 34100 #AK 2L | 20 5832 1,512| 1,512| 1,404 ERE 47—
34200 /I ‘ : 3 30 5,184 173 173 173|= 2 —Y— |30kg

| FU K |
37200 'L X 528 2L | 4 1,350| 1,350 1,350 1,350 ffi[E 1r—=
33600 St Y 1 65 22 22 11| K%y 448
38100 A LW /el 6 4,050 324 270 216| K57 1657 — A
31310 AFE 4 1,188 59 59 59 | & [ 204%
31500 /PAZE 8 1,296 32 32 32| f& 404%
37560 | FHIIE ‘ 1 1,782 356 356 356 | K47 58y
Y4017 # 50T | 20 3,240/ 1,620 1,620 1,620 K% 24— A
49100 | /3FF ‘ ; 36 8,640 3,024 2,808 2,808 71Uty |[35—2R
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